hRe KCL® world-best-pumps
SURGE VALVES HYDRAULIC EQUIPMENTS

RIEERITTEE SYMBOL
CPDF-3

ot 1/l SPECIFICATION :
2ty E={EHET] BAME FEERT] 58 (S%H)
MODLE MAX. OPERATED MAX. FLOW CRACKING PRESSURE WEIGHT
PRESSURE I/min kgf/cm? (ADD PIPE FLANG)
kgf/cm? kg
CPDF-16 400 0.12 31
CPDF-24 250 900 0.14 54.2
CPDF-32 1600 0.16 100
-3 4 Ll HOW TO ORDER :
GPDF- 24 - 180° - R - FPT
-_— - - —T (" S=MB TYPE OF PIPE FLANG )

FPT : PTCIERS (FUS{EEEERT ) PT PORT FLANG
(ADD ACCIDENT PRESSURE PIPE FLANG)
FT: TOARS (MUKESAR) T PORT FLANG (ADD LOW
PRESSURE PIPE FLANG)
FP : POARS (MU= EARI) P PORT FLANG (ADD HIGH
PRESSURE PIPE FLANG)
k?ﬁ%—‘;ﬁ'\ NO MARK : NHfi;%AB§ NOT ADD PIPE FLANG J

d )

SHO75E PORT DIRECTION

R : ffEHOMEI » FENDOELS PRESSURE AT RIGHT
SIDE FROM TANK PORT

L : f#ESACMEl » FEDOEAE PRESSURE AT LEFT
SIDE FROM TANK PORT

\ J
( )
R VALVE TYPE
180° : INLINE TYPE 90° : ANGLE TYPE
\ J
( )
RARHE VALVE SIZE
16 : 2" 24:3" 32:4"
\ J
( )
SRR SERIES NUMBER
\ J

A-f01



i it
SURGE VALVES

INSTALLATION DIMENSIONS

(128)

(249)

161

o 8

KCL® wovld-best-pumps

HYDRAULIC EQUIPMENTS

CPDF-16

Sl
PILOT PORT

[CIy:: [
TANK PORT

{\/

O

315

CPDF-24-90° -L

S8
PILOT PORT

ErHO]
TANK PORT

iyl
P PORT

A-f02




g KCL® world-best-pumps
SURGE VALVES HYDRAULIC EQUIPMENTS

INSTALLATION DIMENSIONS

(249)

CPDF-24-90° -R

5180
PILOT PORT
PT-3/8
TN e é
@i ||
3 |l o 09
| . @kj@

CPDF-24-180°

(177)

:Z 5180

PILOT PORT

e G
§|[ i
[ - -

A-f03

398

i@y

161




HimEs KCL® world-best-pumps
SURGE VALVES HYDRAULIC EQUIPMENTS

32 il INSTALLATION DIMENSIONS

CPDF-32-90° -L

5180
PILOT PORT

Elf0
TANK PORT

(302)
| CPDF-32-90° -R

5150
PILOT PORT

A-fO4



- KO L., sovid-sest-prowps
SURGE VALVES HYDRAULIC EQUIPMENTS

-3~ Ja90 P INSTALLATION DIMENSIONS

CPDF-32-180°

(232)

SlE
PILOT PORT

ElE0
TANK PORT

A-f05



—_ KO L., sovid-sest-prowps
SURGE VALVES HYDRAULIC EQUIPMENTS

|

Lo i

1z
2
T

k- L) SPECIFICATION :

. = (BERS
Ty OE | BARE | BEEREN | SEED R )
MODLE PORT | MAX.FLOW | MAX.PRESSURE | PILOTPRESSURE |\ \ounin oo FiaNG)
I/min kgf/cm?2 ke
PF-50-20->% 2" 250 (7t4) 3.42
PDF-80-20-3« 3" 400 42.3 8.7
PDF-90-20-3% 3-1/2" 630 250 34.19 11.8
PDF-100-20- % 4" 1000 39.45 15.8
PDF-125-20-:% 5" 1600 33.3 25.9
PDF-150-20-:% 6" 2500 29.5 42 .2
1. ERLRSEBASER  BRLLEIRERRNREMN TR EBE -
2. RERAKAER - BT E#ER#0.3kgf/cm?
3. WEBNERRS LIERIRT T (250kgf/cm?)
4. PF-50-20- % BARZ[E2/10.12
BUSREREA HOW TO ORDER :
rif%ﬁ!ﬁ TYPE OF PIPE FLANG )

FPT : PTLIER (MISIKEAR ) PT PORT FLANG
(ADD ACCIDENT PRESSURE PIPE FLANG)
FT : TELARS (MYIKEEARI) T PORT FLANG (ADD LOW
PRESSURE PIPE FLANG)
FP : P[;ER (MISEEER ) P PORT FLANG (ADD HIGH
PRESSURE PIPE FLANG)
Lﬁﬁ%ﬁ—\ NO MARK : ;AR NOT ADD PIPE FLANGJ

BN #REE TYPE NUMBER

(ﬁﬁfmﬁ VALVE SIZE \
50:2" 80 : 3" 90:3-1/2"

\100 14" 125: 5" 150 : 6" )y

f%mﬁﬁ SERIES NUMBER (FLANG CONNECTION)\
PF : BBE%T0

kPDF : BT

.

A-fO6



—_— KO L., sovid-sest-prowps
SURGE VALVES HYDRAULIC EQUIPMENTS

ATTACHMENT :

BT Z R IF R

MODLE SOC HOL CAP SCREW
PF-50 M16 X 45L.....4pcs
PDF-80 M16 X 55L.....6pcs
PDF-90 M18 X 65L.....6pcs
PDF-100 M20 X 70L.....6pcs
PDF-125 M20 X 80L.....12pcs
PDF-150 M20 X 95L.....16pcs

>3~ Ja P INSTALLATION DIMENSIONS

PF-50-20-x

4217
226 IR,

4-M10 x 1.5P, F %16

S PT1/4
S - SLER0
< PILOT PRESSURE PORT
=
92 ‘
PCD.@92
i 4-M10x 30

m
3 ﬂ||.\\\\\\-

u\/(/ -'

J:L LSQAB ‘ = G60

PCD. 2103

68
47
24
%

A-fO7



R KCL® world-best- pumps
SURGE VALVES HYDRAULIC EQUIPMENTS

>3- Ja P INSTALLATION DIMENSIONS

PDF-3%-20-3

Y ¢ SHFEET
TANK-T
oK

PCDL i % OVERERL R
oM .

ON
20

12

FBEAL X
j? ! ‘ w PILOT PRESSURE PORT

6-M122F13820

seEEAOX
PILOT PRESSURE
PORT

GT772277722777

T Pl 2m ©
‘l | >/—_ / a <
‘ 4 Sl SEENO X
Lo e— \ PDF-125 PILOTPRE?SUREPORT
,7771 8-M125F %822
oP & [
oM .
PCDH :-01
06 BB X
PDF-150 PILOT PRE?SURE PORT
it [
B Dl alB|c| 0| E|F|6|H|I|J|K|L

H

PDF-80 3" | 133 | 94 | 65 |225| 45 | 22 | 180 | 146 | 33 | 10 | 142 | 120
PDF-90 (31/2’ 145 119 | 72 | 27 | 50 | 30 | 200 | 165 |41.5| 13 | 160 | 135
PDF-100 | 4" | 157 (1325 74 |31.5| 60 | 32 | 230 | 191 | 44 | 18 | 170 | 148
PDF-125 | 5" | 196 165 | 85 | 43 | 80 | 50 | 270 | 230 | 52 |23.5| 200 | 175
PDF-150 | 6" | 216 204 | 105 | 45 | 80 | 40 | 300 | 260 | 64 | 25 | 225 | 200

B, | O
wooi @ M N O P 0 R S u v, X

PDF-80 3" 1902715 43 | 71 | G80 | G85 | 6-M12x40 | 18 | 26 | PT1/4”
PDF-90 [31/2"101.6) 89 | 50 | 88 |G100|G105| 6-M12x40 | 20 | 28 | PT1/4”
PDF-100 | 4" |115.5 108 | 56 | 106 |G115|G120| 6-M12x40 | 21.5| 32 | PT1/4”
PDF-125 | 5 |141.2130.5 69 | 130 |G140 G145| 6-M12x50 | - - PT1/4”
PDF-150 | 6" | 167 155 | 96 | 168 |G180 G170| 8-M12x50 | - - PT3/8”

A-f08



i it
SURGE VALVES

KCL® wovld-best- pumps

HYDRAULIC EQUIPMENTS

FE%ERITFSR SYMBOL

PF-3%
e
O]
S
R SPECIFICATION :
= E; ==
AU OE | BARE | BEERES BRI WE UL
MODLE PORT MAX. FLOW MAX. PRESSURE | CRACKING PRESSURE (NOT ADD PIPE FLANG)
I/min kef/cm2 kgf/cm2 ke
PF-200-20- 3« 8” 4000 0.12 110
PF-300-20- 3« 127 7000 250 0.12 160
PF-400-20- 3« 17¢ 14000 0.12 250
PF-500-20-3« 20” 19000 0.12 350
i ERLRSEBRASEMN  ERLLEBERRARSVTHR LHE -
BUSREREA HOW TO ORDER :
(Eﬁﬂit TYPE OF PIPE FLANG )

FPT: PTLER (MUSIKEEER ) PT PORT FLANG
(ADD ACCIDENT PRESSURE PIPE FLANG)
FT: TOUARS (MUMEEEARI) T PORT FLANG (ADD LOW
PRESSURE PIPE FLANG)
FP : POARS (MUSEEARI) P PORT FLANG (ADD HIGH
PRESSURE PIPE FLANG)

.

\EER NO MARK : KR NOT ADD PIPE FLANG )
( )
BT\ #RSE TYPE NUMBER
. J
( )
FE3R#8 VALVE SIZE
200: 8" 300: 12" 400: 17" 500 : 20"
. J
( )

RO SERIES NUMBER (FLANG CONNECTION)

.

A-f09



s hpe KCL@ world-best- pumps
SURGE VALVES HYDRAULIC EQUIPMENTS

4 Ia P INSTALLATION DIMENSIONS

PF-3-20-3X

16-9335E @

=~ BRCIX

. PF_2b0_2B ‘OPENVALVEPORT

20-03355%8

=S < BERIOX
PF-300-20 OPEN VALVE PORT

20-93355%

—FAROX

— A AW o=l b;EW\ E*?E’?Eé OF-400.20 OPEN VALVE PORT
PF-500-20 L
BZER YiEE
AU i RARE | mRefERE] FEE7] 58 (BER)
MODLE PORT MAX. fLUW MAX. OPERATED | CRACKING PRESSURE |WEIGHT (NOT ADD PIPE FLANG)
I/min PRESSURE (kgf/cm2) kef/cm2 kg
PF-200 8” 4000 250 0.12 110
PF-300 12” 7000 250 0.12 160
PF-400 17¢ 14000 250 0.12 250
PF-500 20" 19000 250 0.12 350
) C|D|E|H|I|L|N|O| P QR S
PF-200 105 | 56 | 38 | 367 | 73 | 278 | 220 | 115 | 220 |P235|P235| 16-M30x120
PF-300 | 120 | 70 | 45 | 442 | 88 | 366 | 280 |134.5| 280 |P295|P295| 20-M30x130
PF-400 | 120 | 70 | 27 | 555 | 88 | 450 | 350 |134.5| 350 |P400|P400| 20-M30x130
PF-500 | 155 | 90 | 50 | 685 | 110 | 580 | 450 | 200 | 450 |P535|P535| 24-M30x170

=
ZS 1 x| Y| 12
PF-200 | 310 |PT1/2"| 422 | 8-M16x55
PF-300 | 394 |[PT1/2”| 500 | 10-M16x55
PF-400 | 480 [PT1/2”| 605 | 10-M16x55
PF-500 | 620 [PT3/4”| 750 | 10-M16x75

A-f10



hRE KCL® world-best-pumps
SURGE VALVES HYDRAULIC EQUIPMENTS

RREERYTFER SYMBOL
PF-3x
SREETE

r 533%@@%‘:? P
ol f
x

H K

|

=
Jixs

LT

Rlagy
ge® L
I L 1) SPECIFICATION : B
i O | mARE | BEEEES | SISLA WE UL
MODLE PORT MAX. FLOW MAX. PRESSURE PILOT RATIO
. (NOT ADD PIPE FLANG)
I/min kgf/cm2 ke
PF-200-30- 3« 8” 4000 51:1 110
PF-300-30-% 127 7000 250 51:1 160
PF-500-30->%¢ 207 19000 6.2 :1 350
it EBLRSEBAZEN  ERLLETEBERRNARENTHLU LBE -
BUSREREA HOW TO ORDER :
(ifﬁﬂit TYPE OF PIPE FLANG )
FPT: PTOERS (MUSIKEEARI) PT PORT FLANG
(ADD ACCIDENT PRESSURE PIPE FLANG)
FT : TOLARS (MHEEEARS ) T PORT FLANG (ADD LOW
PRESSURE PIPE FLANG)
Fp : PLIARE (HUSEE:RE ) P PORT FLANG (ADD HIGH
PRESSURE PIPE FLANG)
\EET NO MARK : MR NOT ADD PIPE FLANG )
4 N\
BITV#RSE TYPE NUMBER
. J
( )
R4 VALVE SIZE
200: 8" 300: 12" 500 : 20"
. J
4 N\
#5#wEE SERIES NUMBER (FLANG CONNECTION)
. J

A-f11



hpe KCL@ world-best- pumps
SURGE VALVES HYDRAULIC EQUIPMENTS

3 -Ja P INSTALLATION DIMENSIONS

PF-3-30-3%

Y
|
T
PCD.L ‘ R
oN BRRCIX —=— =] - =] — BEROX
20 CLOSE VALVE PORT OPEN VALVE PORT
\% \ PF-200
= , -
) | | YEE .
S : : / NOREE
& < : ) RBRARKY
]ﬂ/ 2= N 7 V%
T — - Jﬁ R ] ® | ‘ fj‘
LJ %f ‘ ‘ FzﬁﬁEEIX* f T N T T T - T T ¢Eﬁﬁa?llilx
B P _ Q CLOSE VALVE PORT OPEN VALVE PORT
‘ PCD.H PF-300
YHEE
R
BARIX i TP Sl I < g
CLOSE VALVE PORT PF_500 OPEN VALVE PORT
YiRE
, . BRAARE | ReERARED . E= (EERE)
h;—%nf& E{lﬁ MAX. FLOW | MAX. OPERATED ﬁiﬁﬁ%ﬁg WEIGHT (NOT ADD PIPE FLANG)
Vmin | PRESSURE(kgf/cm?) ke
PF-200 8” 4000 250 5.1:1 110
PF-300 12 7000 250 5.1:1 160
PF-500 20" | 19000 250 6.2 1 350
W
ZX o p E W I L N O P Q R| S
PF-200 | 105 | 56 | 38 | 367 | 73 | 278 | 220 | 115 | 220 |P235|P235| 16-M30x120
PF-300 | 120 | 70 | 45 | 442 | 88 | 366 | 280 134.5 280 |P295 P295| 20-M30x130
PF-500 | 155 | 90 |54.5| 685 | 110 | 580 | 450 K 200 | 450 |P535 P535| 24-M30x170

.
BN LT X | Y| 2
PF-200 | 310 |PT1/2”| 422 | 8-M16x55
PF-300 | 394 |[PT1/2”| 500 | 10-M16x55
PF-500 | 750 |PT3/4”| 605 | 10-M16x55

A-f12



KCL® wovld-best-pumps

i i
SURGE VALVES HYDRAULIC EQUIPMENTS
E?EEST&?IESYMBOL PF-%-30-%-10

__ L
RNy
e ® L
T T ) SPECIFICATION : 101Pa
= ﬂ;‘ e
A OE | SAnE | BEERES HE SRR
MODLE PORT | MAX. FLOW MAX. PRESSURE DI
I/min kgf/cm2 ke
PF-200-30-3%-10 | 8 4000 250 535
5 BRI RSERRSTA » B U S ERRARENTH R -
M |
. & o a'o‘ B} .
BROX -~ — bt} el pamrx
CLOSE VALVEPORT | |\~ A2 3 T &IT ) b opEN vaLVE PORT
\‘ g e
PE-200
. ( :
: L
il - ﬂ e !
= 2P -t
- BAME | meERETD . B= (BERE)
n%niﬁ 'P:[]]{‘IT MAX.FLOW | MAX. OPERATED ﬁlﬁﬁ'ﬁﬁg WEIGHT (NOT ADD PIPE FLANG)
I/min PRESSURE (kgf/cm2) kg
PF-200 8 4000 100 5.1: 1 535

itk
3. A B C D EF G X P H I J KL RM

PF-200 |440.8| 422 | 367 | 310 | 38 | 105 | 90 |PT1/2" 220 | 56 | 288 | 220 | 270 | 33 |P235|4-10

A-f13



	封面
	彩1
	彩2
	彩3
	彩4
	彩5
	彩6
	(1)目次1
	(2)目次2
	(3)目次3
	(4)目次4
	(5)目次5
	(6)目次6
	(7)A-a01
	(8)A-a02
	(9)A-a03
	(10)A-a04
	(11)A-a05
	(12)A-a06
	(13)A-a07
	(14)A-a08
	(15)A-a09
	(16)A-a10
	(17)A-a11
	(18)A-a12
	(19)A-a13
	(20)A-a14
	(21)A-a15
	(22)A-a16
	(23)A-a17
	(24)A-a18
	(25)A-a19
	(26)A-a20
	(27)A-a21
	(28)A-a22
	(29)A-a23
	(30)A-a24
	(31)A-a25
	(32)A-a26
	(33)A-a27
	(34)A-a28
	(35)A-a29
	(36)A-a30
	(37)A-a31
	(38)A-a32
	(39)A-a33
	(40)A-a34
	(41)A-b01
	(42)A-b02
	(43)A-b03
	(44)A-b04
	(45)A-b05
	(46)A-b06
	(47)A-b07
	(48)A-b08
	(49)A-b09
	(50)A-b10
	(51)A-b11
	(52)A-b12
	(53)A-b13
	(54)A-b14
	(55)A-b15
	(56)A-c01
	(57)A-c02
	(58)A-c03
	(59)A-c04
	(60)A-c05
	(61)A-d01
	(62)A-d02
	(63)A-d03
	(64)A-d04
	(65)A-d05
	(66)A-d06
	(67)A-e01
	(68)A-e02
	(69)A-e03
	(70)A-e04
	(71)A-e05
	(72)A-e06
	(73)A-f01
	(74)A-f02
	(75)A-f03
	(76)A-f04
	(77)A-f05
	(78)A-f06
	(79)A-f07
	(80)A-f08
	(81)A-f09
	(82)A-f10
	(83)A-f11
	(84)A-f12
	(85)A-f13
	(86)A-z01
	(87)A-z02
	(88)B-a01
	(89)B-a02
	(90)B-a03
	(91)B-a04
	(92)B-a05
	(93)B-a06
	(94)B-a07
	(95)B-a08
	(96)B-a09
	(97)B-a10
	(98)B-b01
	(99)B-b02
	(100)B-b03
	(101)B-b04
	(102)B-b05
	(103)B-b06
	(104)B-b07
	(105)B-b08
	(106)B-b09
	(107)B-b10
	(108)B-b11
	(109)B-b12
	(110)B-c01
	(111)B-c02
	(112)B-c03
	(113)B-c04
	(114)B-c05
	(115)B-c06
	(116)B-c07
	(117)B-c08
	(118)B-c09
	(119)B-c10
	(120)B-d01
	(121)B-d02
	(122)B-d03
	(123)B-d04
	(124)B-d05
	(125)B-d06
	(126)B-d07
	(127)B-d08
	(128)B-d09
	(129)B-d10
	(130)B-d11
	(131)B-d12
	(132)B-e01
	(133)B-e02
	(134)B-e03
	(135)B-e04
	(136)B-e05
	(137)B-e06
	(138)B-e07
	(139)B-e08
	(140)B-f01
	(141)B-f02
	(142)B-f03
	(143)B-f04
	(144)B-f05
	(145)B-f06
	(146)B-f07
	(147)B-f08
	(148)B-g01
	(149)B-g02
	(150)B-g03
	(151)B-g04
	(152)B-g05
	(153)B-g06
	(154)B-g07
	(155)B-g08
	(156)B-g09
	(157)B-g10
	(158)B-g11
	(159)B-g12
	(160)B-h01
	(161)B-h02
	(162)B-h03
	(163)B-h04
	(164)B-h05
	(165)B-h06
	(166)B-i01
	(167)B-i02
	(168)B-i03
	(169)B-i04
	(170)B-i05
	(171)B-i06
	(172)B-j01
	(173)B-j02
	(174)B-j03
	(175)B-j04
	(176)B-j05
	(177)B-j06
	(178)B-k01
	(179)B-k02
	(180)B-m01
	(181)B-m02
	(182)B-m03
	(183)B-m04
	(184)B-m05
	(185)C-a01
	(186)C-a02
	(187)C-b01
	(188)C-b02
	(189)C-c01
	(190)C-c02
	(191)C-c03
	(192)C-c04
	(193)C-c05
	(194)C-c06
	(195)C-d01
	(196)C-d02
	(197)C-d03
	(198)C-d04
	(199)C-d05
	(200)C-d06
	(201)C-d07
	(202)C-d08
	(203)C-d09
	(204)C-d10
	(205)C-e01
	(206)C-e02
	(207)C-e03
	(208)C-f01
	(209)C-f02
	(210)C-f03
	(211)C-f04
	(212)C-g01
	(213)C-g02
	(214)C-g03
	(215)C-g04
	(216)C-g05
	(217)C-h01
	(218)C-h02
	(219)C-h03
	(220)C-h04
	(221)C-h05
	(222)C-i01
	(223)C-i02
	(224)C-i03
	(225)C-i04
	(226)C-j01
	(227)C-j02
	(228)C-j03
	(229)C-j04
	(230)C-k01
	(231)C-k02
	(232)C-k03
	(233)C-k04
	(234)C-k05
	(235)C-m01
	(236)C-m02
	(237)C-m03
	(238)C-m04
	(239)C-m05
	(240)C-z01
	(241)C-z02
	(242)C-z03
	(243)C-z04
	(244)C-z05
	(245)D-a01
	(246)D-a02
	(247)D-a03
	(248)D-a04
	(249)D-a05
	(250)D-b01
	(251)D-b02
	(252)D-b03
	(253)D-c01
	(254)D-c02
	(255)D-c03
	(256)D-c04
	(257)D-c05
	(258)D-c06
	(259)D-c07
	(260)D-c08
	(261)D-z01
	(262)D-z02
	(263)E-a01
	(264)E-a02
	(265)E-a03
	(266)E-a04
	(267)E-a05
	(268)E-b01
	(269)E-b02
	(270)E-b03
	(271)E-b04
	(272)E-b05
	(273)E-b06
	(274)E-b07
	(275)E-b08
	(276)E-b09
	(277)E-c01
	(278)E-c02
	(279)F-a01
	(280)F-a02
	(281)F-b01
	(282)F-b02
	(283)F-b03
	(284)F-b04
	(285)F-c01
	(286)F-c02
	(287)F-c03
	(288)F-c04
	(289)F-c05
	(290)F-d01
	(291)F-d02
	(292)F-d03
	(293)F-d04
	(294)F-d05
	(295)F-e01
	(296)F-e02
	(297)F-z01
	(298)G-a01
	(299)G-a02
	(300)G-a03
	(301)G-a04
	(302)G-a05
	(303)G-a06
	(304)G-a07
	(305)G-a08
	(306)G-a09
	(307)G-a10
	(308)G-b01
	(309)G-b02
	(310)G-c01
	(311)G-d01
	(312)G-e01
	(313)G-e02
	(314)G-f01
	(315)G-f02
	(316)G-g01
	(317)G-g02
	(318)G-h01
	(319)G-h02
	(320)G-h03
	(321)G-h04
	(322)G-z01
	(323)G-z02
	(324)H-a01
	(325)H-a02
	(326)H-a03
	(327)H-a04
	(328)H-a05
	(329)H-a06
	(330)H-a07
	(331)H-a08
	(332)H-a09
	(333)H-a10
	(334)H-a11
	(335)H-a12
	(336)H-a13
	(337)H-a14
	(338)H-a15
	(339)H-a16
	(340)H-a17
	(341)H-a18
	(342)H-a19
	(343)H-a20
	(344)H-a21
	(345)H-a22
	(346)H-a23
	(347)H-a24
	(348)H-a25
	(349)H-a26
	(350)H-a27
	(351)H-a28
	(352)H-a29
	(353)H-a30
	(354)H-a31
	(355)H-a32
	(356)H-a33
	(357)H-a34
	(358)H-a35
	(359)H-a36
	(360)H-a37
	(361)H-a38
	(362)H-a39
	(363)H-a40
	(364)H-a41
	(365)H-a42
	(366)H-a43
	(367)H-a44
	(368)H-a45
	(369)H-a46
	(370)H-a47
	(371)H-a48
	(372)H-a49
	(373)H-a50
	(374)H-a51
	(375)H-a52
	(376)H-a53
	(377)I-a01
	(378)I-a02
	(379)I-a03
	(380)I-a04
	(381)I-a05
	(382)I-a06
	(383)I-a07
	(384)I-a08
	(385)I-a09
	(386)I-a10
	(387)I-b01
	(388)I-b02
	(389)I-c01
	(390)MEMO
	封底
	A-f06-f08 PF50 PDF-80-150.pdf
	封面
	彩1
	彩2
	彩3
	彩4
	彩5
	彩6
	(1)目次1
	(2)目次2
	(3)目次3
	(4)目次4
	(5)目次5
	(6)目次6
	(7)A-a01
	(8)A-a02
	(9)A-a03
	(10)A-a04
	(11)A-a05
	(12)A-a06
	(13)A-a07
	(14)A-a08
	(15)A-a09
	(16)A-a10
	(17)A-a11
	(18)A-a12
	(19)A-a13
	(20)A-a14
	(21)A-a15
	(22)A-a16
	(23)A-a17
	(24)A-a18
	(25)A-a19
	(26)A-a20
	(27)A-a21
	(28)A-a22
	(29)A-a23
	(30)A-a24
	(31)A-a25
	(32)A-a26
	(33)A-a27
	(34)A-a28
	(35)A-a29
	(36)A-a30
	(37)A-a31
	(38)A-a32
	(39)A-a33
	(40)A-a34
	(41)A-b01
	(42)A-b02
	(43)A-b03
	(44)A-b04
	(45)A-b05
	(46)A-b06
	(47)A-b07
	(48)A-b08
	(49)A-b09
	(50)A-b10
	(51)A-b11
	(52)A-b12
	(53)A-b13
	(54)A-b14
	(55)A-b15
	(56)A-c01
	(57)A-c02
	(58)A-c03
	(59)A-c04
	(60)A-c05
	(61)A-d01
	(62)A-d02
	(63)A-d03
	(64)A-d04
	(65)A-d05
	(66)A-d06
	(67)A-e01
	(68)A-e02
	(69)A-e03
	(70)A-e04
	(71)A-e05
	(72)A-e06
	(73)A-f01
	(74)A-f02
	(75)A-f03
	(76)A-f04
	(77)A-f05
	(78)A-f06
	(79)A-f07
	(80)A-f08
	(81)A-f09
	(82)A-f10
	(83)A-f11
	(84)A-f12
	(85)A-f13
	(86)A-z01
	(87)A-z02
	(88)B-a01
	(89)B-a02
	(90)B-a03
	(91)B-a04
	(92)B-a05
	(93)B-a06
	(94)B-a07
	(95)B-a08
	(96)B-a09
	(97)B-a10
	(98)B-b01
	(99)B-b02
	(100)B-b03
	(101)B-b04
	(102)B-b05
	(103)B-b06
	(104)B-b07
	(105)B-b08
	(106)B-b09
	(107)B-b10
	(108)B-b11
	(109)B-b12
	(110)B-c01
	(111)B-c02
	(112)B-c03
	(113)B-c04
	(114)B-c05
	(115)B-c06
	(116)B-c07
	(117)B-c08
	(118)B-c09
	(119)B-c10
	(120)B-d01
	(121)B-d02
	(122)B-d03
	(123)B-d04
	(124)B-d05
	(125)B-d06
	(126)B-d07
	(127)B-d08
	(128)B-d09
	(129)B-d10
	(130)B-d11
	(131)B-d12
	(132)B-e01
	(133)B-e02
	(134)B-e03
	(135)B-e04
	(136)B-e05
	(137)B-e06
	(138)B-e07
	(139)B-e08
	(140)B-f01
	(141)B-f02
	(142)B-f03
	(143)B-f04
	(144)B-f05
	(145)B-f06
	(146)B-f07
	(147)B-f08
	(148)B-g01
	(149)B-g02
	(150)B-g03
	(151)B-g04
	(152)B-g05
	(153)B-g06
	(154)B-g07
	(155)B-g08
	(156)B-g09
	(157)B-g10
	(158)B-g11
	(159)B-g12
	(160)B-h01
	(161)B-h02
	(162)B-h03
	(163)B-h04
	(164)B-h05
	(165)B-h06
	(166)B-i01
	(167)B-i02
	(168)B-i03
	(169)B-i04
	(170)B-i05
	(171)B-i06
	(172)B-j01
	(173)B-j02
	(174)B-j03
	(175)B-j04
	(176)B-j05
	(177)B-j06
	(178)B-k01
	(179)B-k02
	(180)B-m01
	(181)B-m02
	(182)B-m03
	(183)B-m04
	(184)B-m05
	(185)C-a01
	(186)C-a02
	(187)C-b01
	(188)C-b02
	(189)C-c01
	(190)C-c02
	(191)C-c03
	(192)C-c04
	(193)C-c05
	(194)C-c06
	(195)C-d01
	(196)C-d02
	(197)C-d03
	(198)C-d04
	(199)C-d05
	(200)C-d06
	(201)C-d07
	(202)C-d08
	(203)C-d09
	(204)C-d10
	(205)C-e01
	(206)C-e02
	(207)C-e03
	(208)C-f01
	(209)C-f02
	(210)C-f03
	(211)C-f04
	(212)C-g01
	(213)C-g02
	(214)C-g03
	(215)C-g04
	(216)C-g05
	(217)C-h01
	(218)C-h02
	(219)C-h03
	(220)C-h04
	(221)C-h05
	(222)C-i01
	(223)C-i02
	(224)C-i03
	(225)C-i04
	(226)C-j01
	(227)C-j02
	(228)C-j03
	(229)C-j04
	(230)C-k01
	(231)C-k02
	(232)C-k03
	(233)C-k04
	(234)C-k05
	(235)C-m01
	(236)C-m02
	(237)C-m03
	(238)C-m04
	(239)C-m05
	(240)C-z01
	(241)C-z02
	(242)C-z03
	(243)C-z04
	(244)C-z05
	(245)D-a01
	(246)D-a02
	(247)D-a03
	(248)D-a04
	(249)D-a05
	(250)D-b01
	(251)D-b02
	(252)D-b03
	(253)D-c01
	(254)D-c02
	(255)D-c03
	(256)D-c04
	(257)D-c05
	(258)D-c06
	(259)D-c07
	(260)D-c08
	(261)D-z01
	(262)D-z02
	(263)E-a01
	(264)E-a02
	(265)E-a03
	(266)E-a04
	(267)E-a05
	(268)E-b01
	(269)E-b02
	(270)E-b03
	(271)E-b04
	(272)E-b05
	(273)E-b06
	(274)E-b07
	(275)E-b08
	(276)E-b09
	(277)E-c01
	(278)E-c02
	(279)F-a01
	(280)F-a02
	(281)F-b01
	(282)F-b02
	(283)F-b03
	(284)F-b04
	(285)F-c01
	(286)F-c02
	(287)F-c03
	(288)F-c04
	(289)F-c05
	(290)F-d01
	(291)F-d02
	(292)F-d03
	(293)F-d04
	(294)F-d05
	(295)F-e01
	(296)F-e02
	(297)F-z01
	(298)G-a01
	(299)G-a02
	(300)G-a03
	(301)G-a04
	(302)G-a05
	(303)G-a06
	(304)G-a07
	(305)G-a08
	(306)G-a09
	(307)G-a10
	(308)G-b01
	(309)G-b02
	(310)G-c01
	(311)G-d01
	(312)G-e01
	(313)G-e02
	(314)G-f01
	(315)G-f02
	(316)G-g01
	(317)G-g02
	(318)G-h01
	(319)G-h02
	(320)G-h03
	(321)G-h04
	(322)G-z01
	(323)G-z02
	(324)H-a01
	(325)H-a02
	(326)H-a03
	(327)H-a04
	(328)H-a05
	(329)H-a06
	(330)H-a07
	(331)H-a08
	(332)H-a09
	(333)H-a10
	(334)H-a11
	(335)H-a12
	(336)H-a13
	(337)H-a14
	(338)H-a15
	(339)H-a16
	(340)H-a17
	(341)H-a18
	(342)H-a19
	(343)H-a20
	(344)H-a21
	(345)H-a22
	(346)H-a23
	(347)H-a24
	(348)H-a25
	(349)H-a26
	(350)H-a27
	(351)H-a28
	(352)H-a29
	(353)H-a30
	(354)H-a31
	(355)H-a32
	(356)H-a33
	(357)H-a34
	(358)H-a35
	(359)H-a36
	(360)H-a37
	(361)H-a38
	(362)H-a39
	(363)H-a40
	(364)H-a41
	(365)H-a42
	(366)H-a43
	(367)H-a44
	(368)H-a45
	(369)H-a46
	(370)H-a47
	(371)H-a48
	(372)H-a49
	(373)H-a50
	(374)H-a51
	(375)H-a52
	(376)H-a53
	(377)I-a01
	(378)I-a02
	(379)I-a03
	(380)I-a04
	(381)I-a05
	(382)I-a06
	(383)I-a07
	(384)I-a08
	(385)I-a09
	(386)I-a10
	(387)I-b01
	(388)I-b02
	(389)I-c01
	(390)MEMO
	封底

	A-f09-f13 PF-200-50.pdf
	封面
	彩1
	彩2
	彩3
	彩4
	彩5
	彩6
	(1)目次1
	(2)目次2
	(3)目次3
	(4)目次4
	(5)目次5
	(6)目次6
	(7)A-a01
	(8)A-a02
	(9)A-a03
	(10)A-a04
	(11)A-a05
	(12)A-a06
	(13)A-a07
	(14)A-a08
	(15)A-a09
	(16)A-a10
	(17)A-a11
	(18)A-a12
	(19)A-a13
	(20)A-a14
	(21)A-a15
	(22)A-a16
	(23)A-a17
	(24)A-a18
	(25)A-a19
	(26)A-a20
	(27)A-a21
	(28)A-a22
	(29)A-a23
	(30)A-a24
	(31)A-a25
	(32)A-a26
	(33)A-a27
	(34)A-a28
	(35)A-a29
	(36)A-a30
	(37)A-a31
	(38)A-a32
	(39)A-a33
	(40)A-a34
	(41)A-b01
	(42)A-b02
	(43)A-b03
	(44)A-b04
	(45)A-b05
	(46)A-b06
	(47)A-b07
	(48)A-b08
	(49)A-b09
	(50)A-b10
	(51)A-b11
	(52)A-b12
	(53)A-b13
	(54)A-b14
	(55)A-b15
	(56)A-c01
	(57)A-c02
	(58)A-c03
	(59)A-c04
	(60)A-c05
	(61)A-d01
	(62)A-d02
	(63)A-d03
	(64)A-d04
	(65)A-d05
	(66)A-d06
	(67)A-e01
	(68)A-e02
	(69)A-e03
	(70)A-e04
	(71)A-e05
	(72)A-e06
	(73)A-f01
	(74)A-f02
	(75)A-f03
	(76)A-f04
	(77)A-f05
	(78)A-f06
	(79)A-f07
	(80)A-f08
	(81)A-f09
	(82)A-f10
	(83)A-f11
	(84)A-f12
	(85)A-f13
	(86)A-z01
	(87)A-z02
	(88)B-a01
	(89)B-a02
	(90)B-a03
	(91)B-a04
	(92)B-a05
	(93)B-a06
	(94)B-a07
	(95)B-a08
	(96)B-a09
	(97)B-a10
	(98)B-b01
	(99)B-b02
	(100)B-b03
	(101)B-b04
	(102)B-b05
	(103)B-b06
	(104)B-b07
	(105)B-b08
	(106)B-b09
	(107)B-b10
	(108)B-b11
	(109)B-b12
	(110)B-c01
	(111)B-c02
	(112)B-c03
	(113)B-c04
	(114)B-c05
	(115)B-c06
	(116)B-c07
	(117)B-c08
	(118)B-c09
	(119)B-c10
	(120)B-d01
	(121)B-d02
	(122)B-d03
	(123)B-d04
	(124)B-d05
	(125)B-d06
	(126)B-d07
	(127)B-d08
	(128)B-d09
	(129)B-d10
	(130)B-d11
	(131)B-d12
	(132)B-e01
	(133)B-e02
	(134)B-e03
	(135)B-e04
	(136)B-e05
	(137)B-e06
	(138)B-e07
	(139)B-e08
	(140)B-f01
	(141)B-f02
	(142)B-f03
	(143)B-f04
	(144)B-f05
	(145)B-f06
	(146)B-f07
	(147)B-f08
	(148)B-g01
	(149)B-g02
	(150)B-g03
	(151)B-g04
	(152)B-g05
	(153)B-g06
	(154)B-g07
	(155)B-g08
	(156)B-g09
	(157)B-g10
	(158)B-g11
	(159)B-g12
	(160)B-h01
	(161)B-h02
	(162)B-h03
	(163)B-h04
	(164)B-h05
	(165)B-h06
	(166)B-i01
	(167)B-i02
	(168)B-i03
	(169)B-i04
	(170)B-i05
	(171)B-i06
	(172)B-j01
	(173)B-j02
	(174)B-j03
	(175)B-j04
	(176)B-j05
	(177)B-j06
	(178)B-k01
	(179)B-k02
	(180)B-m01
	(181)B-m02
	(182)B-m03
	(183)B-m04
	(184)B-m05
	(185)C-a01
	(186)C-a02
	(187)C-b01
	(188)C-b02
	(189)C-c01
	(190)C-c02
	(191)C-c03
	(192)C-c04
	(193)C-c05
	(194)C-c06
	(195)C-d01
	(196)C-d02
	(197)C-d03
	(198)C-d04
	(199)C-d05
	(200)C-d06
	(201)C-d07
	(202)C-d08
	(203)C-d09
	(204)C-d10
	(205)C-e01
	(206)C-e02
	(207)C-e03
	(208)C-f01
	(209)C-f02
	(210)C-f03
	(211)C-f04
	(212)C-g01
	(213)C-g02
	(214)C-g03
	(215)C-g04
	(216)C-g05
	(217)C-h01
	(218)C-h02
	(219)C-h03
	(220)C-h04
	(221)C-h05
	(222)C-i01
	(223)C-i02
	(224)C-i03
	(225)C-i04
	(226)C-j01
	(227)C-j02
	(228)C-j03
	(229)C-j04
	(230)C-k01
	(231)C-k02
	(232)C-k03
	(233)C-k04
	(234)C-k05
	(235)C-m01
	(236)C-m02
	(237)C-m03
	(238)C-m04
	(239)C-m05
	(240)C-z01
	(241)C-z02
	(242)C-z03
	(243)C-z04
	(244)C-z05
	(245)D-a01
	(246)D-a02
	(247)D-a03
	(248)D-a04
	(249)D-a05
	(250)D-b01
	(251)D-b02
	(252)D-b03
	(253)D-c01
	(254)D-c02
	(255)D-c03
	(256)D-c04
	(257)D-c05
	(258)D-c06
	(259)D-c07
	(260)D-c08
	(261)D-z01
	(262)D-z02
	(263)E-a01
	(264)E-a02
	(265)E-a03
	(266)E-a04
	(267)E-a05
	(268)E-b01
	(269)E-b02
	(270)E-b03
	(271)E-b04
	(272)E-b05
	(273)E-b06
	(274)E-b07
	(275)E-b08
	(276)E-b09
	(277)E-c01
	(278)E-c02
	(279)F-a01
	(280)F-a02
	(281)F-b01
	(282)F-b02
	(283)F-b03
	(284)F-b04
	(285)F-c01
	(286)F-c02
	(287)F-c03
	(288)F-c04
	(289)F-c05
	(290)F-d01
	(291)F-d02
	(292)F-d03
	(293)F-d04
	(294)F-d05
	(295)F-e01
	(296)F-e02
	(297)F-z01
	(298)G-a01
	(299)G-a02
	(300)G-a03
	(301)G-a04
	(302)G-a05
	(303)G-a06
	(304)G-a07
	(305)G-a08
	(306)G-a09
	(307)G-a10
	(308)G-b01
	(309)G-b02
	(310)G-c01
	(311)G-d01
	(312)G-e01
	(313)G-e02
	(314)G-f01
	(315)G-f02
	(316)G-g01
	(317)G-g02
	(318)G-h01
	(319)G-h02
	(320)G-h03
	(321)G-h04
	(322)G-z01
	(323)G-z02
	(324)H-a01
	(325)H-a02
	(326)H-a03
	(327)H-a04
	(328)H-a05
	(329)H-a06
	(330)H-a07
	(331)H-a08
	(332)H-a09
	(333)H-a10
	(334)H-a11
	(335)H-a12
	(336)H-a13
	(337)H-a14
	(338)H-a15
	(339)H-a16
	(340)H-a17
	(341)H-a18
	(342)H-a19
	(343)H-a20
	(344)H-a21
	(345)H-a22
	(346)H-a23
	(347)H-a24
	(348)H-a25
	(349)H-a26
	(350)H-a27
	(351)H-a28
	(352)H-a29
	(353)H-a30
	(354)H-a31
	(355)H-a32
	(356)H-a33
	(357)H-a34
	(358)H-a35
	(359)H-a36
	(360)H-a37
	(361)H-a38
	(362)H-a39
	(363)H-a40
	(364)H-a41
	(365)H-a42
	(366)H-a43
	(367)H-a44
	(368)H-a45
	(369)H-a46
	(370)H-a47
	(371)H-a48
	(372)H-a49
	(373)H-a50
	(374)H-a51
	(375)H-a52
	(376)H-a53
	(377)I-a01
	(378)I-a02
	(379)I-a03
	(380)I-a04
	(381)I-a05
	(382)I-a06
	(383)I-a07
	(384)I-a08
	(385)I-a09
	(386)I-a10
	(387)I-b01
	(388)I-b02
	(389)I-c01
	(390)MEMO
	封底


